XIERAANCCDHRAEZE RABHRAITEY+ 2 CEBFEL TSN,

Before beginning assembly, please read these instructions thoroughly!

p
No.FAW?226
TC A—RU NV IN—HR—k (9z—%—MK2 FZ02/FZ02LF) KYOSHO

TC Carbon Bumper Support (for FAZER MK2 FZ02/FZ02L) sTRommon sHeeT
% No.FAW226 Y,

BEVWEITHYNESTETWET . AR REEAIMED— R MERALI-7T—Y—MK2 FZ02Y—Y) T h—I v —
RANYR—=HR—=rTY, TAVMUNR—ENLINYREDRBIZERETHETIAVMEY DO v —RIMET v TESE TELT
T4— )V TEERETEFY  CHEARICCORRGASZS LV OREGRAEZS E TETASLY,

Thank you for your purchasing this bumper support for the FAZER MK2 FZ02 touring car chassis with high rigidity carbon.

Installing between the front bumper and bulk head increases chassis rigidity and changes driving feel.
Please read this instruction manual together with the instruction manual for the kit before use.

Content IS —HR— ‘ ‘ \
/YA | Bumper Support B4 b M3x10 HIAYIRER M3x15 REUAYIRAER

Mount Collar M3x10 F/H Hex Screw M3x15 Button Hex Screw

510205 © (- Ol ©

.Esiwilb%{:ﬁ#ﬁhfuéhv—r?
ymbols used throughout the - . _ e
instruction sheet, Comprise: /I,E LT%ELLT%FEO Vs EEIEJ L&D (-%ﬁlL’Céo

Pay close attention here! Assemble left and right sides the same way.

M3x15 RE AU XE R
W M3x15 Button Hex Screw

M3x10 HSAYHIRE R
M3x10 F/H Hex Screw

IO bAT—
Mount Collar




PRELTEEEHDFIETHITS,
Re-assemble in the reverse order of disassembly.

[+—h—fs 0@ EHngEERLT HER—LR—
RLITR/CEELAELLD, | [ www.kyosho.com
XUEHEDFSH, FPELRARELEETIBAAHYET,

*SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE.
© Copyright 2019 KYOSHO CORPORATION / & % 7 8 4 51

FAW226-T01

REkAE1t
T243-0021 )| BEART BH3050 EXTHI R AL VA T—TF
@1 — Y —HEMEEBEEL 046-229-4115

BEVWEDLEIL: ABE~EBEMEAZKR) 13:00~18: 00
66621907-1 PRINTED IN TAIWAN




